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Note :— Attempt all questions.

SECTION-A

. Attempt all parts of the following : 8x1=8

(a) Explaininitial and final value theorem.

(b) Show the efficiency of circuit 1s 50% under

condition of maximum power transfer.

(¢c) Define twigs of graph theory.

(d) Explain cut-set matrix.

[P.T.O.
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(e) Difterentiate between lumped and distributed

parameter.
(f)  Give the statement of super position theorem.

(g) What are the condition for which network

function to be stable?

(h)  What are the condition for marginal stable in

bode diagram.

SECTION-B
2. Attempt any two parts of the following :  2x6=12

(a) Explain Thevenin and Norton equivalent circuit

and write the procedure to obtain Thevenin

voltage (V._.) and Norton's current (1) with

respectto Z. . and Z..

(b) Mention the steps to perform the stability of a

given polynomial :

by using Routh-Hurwitz criterion.




(C)
(d)
Note :—
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(b)
(C)
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Obtain the Z parameter of the network shown in
Ligure
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Explaim positive real function and mention the

propertics and sulficient condition for rational

function to be positive real function (PR L)

SECTION-C

Attempt all questions. Attempt any two parts

from cach questions. 5840

State and prove convolution theorem in Laplace

transform.
Determine initial value £(07), 1f

’7 .
{(s)= T(HU

s  +284+)5

Obtain the Thevenin's equivalent parameters for

the circult :

[P.T.O.
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4. For the graph shown in figure, consider the formed
by the branches (2, 3, 4), using this tree calcualte :
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(a) Compute incidence and reduce incidence

matrix.
(b) Tie-set matrix (B )

(¢) Cut-set matrix (Q)
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(¢)

(a)

(b)

(¢)

S BEC 3405

For the given lattice network, find Z-parameter:

J 402 I
@ > /W\/\/ {—1 o
N A
V] VI
v A 4
e MWV o

Explain the transformation of T —mand m—T
representation.

Define characteristics impedence Ligs
progpagation constant y and alternation a for
filter made by T network.

Check whether the given polynomial :

P(s)=s*'+s’+2s2+4s+1

1S Hurwitz or not?

Test for the positive real function :
2s” +2s+1
® +2s% +5+2

F(s)=

An impedence function given by :

~ (s+D)(s+4)
£B)=3s+2) 5+5)
Find R-C representation of Foster I and IT form.
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